AR

1] DB O B D FRIE I DWW T
FROBEREARET 5,
SM546 H6H

b=

f’eE BfMXKE F K w1

ClEr

(R B H)
ST A7 BRAL 1 -l DRSS — A i AR P B 8 SR ISP O S K O R B O HER A 2 2T
EREZRIXEOKMRE LTRET OILERHDLDT, KELZEHWIZLET,

Rl X TE O BB OB DV T
ERIE (RA2THEIERER1807) H 8RB 1 HOBEITHE DS, Rl XIE OB Z KO
LR ET %,

5]

it p=y
I S w8 RO
S Jy

BAXSIA—THG6 1 0% 2 2 #1505 AR X m F R
¥1394%

BAXSIA—THG6 05% 1 OfdeE T o B

AN AU T H 1 2 8/ S MDD Bl R H £ R
¥1395%

=X AU TH 1L 25% 2% T o B

BRSNS A ETHLBA5F1 7TO—E0nb AR X m R R
1396%

BARXN A SNT H3 0 7FMgEFET ) L bS] )

BEAFXSA—TH 6 0 0% 3Hseh 5 B M #£ N
1397%

BEAXN A —TH23 1 &% 2MEET oL B Y

IR AU THES 708 1 O—Hnb B M #£ R
¥1398%

BAXSIAETHS49% 1 OfdeE T oL B Y

BAXSIAETHS 4 3% 2 1 #4005 AR X m F R
¥1399%

BN ANTHI30 1HF4AMEFET ) L bS]

BiXIUS>A—THS5F 1 Db Bl X m # R
1400%

BiXUS>A—TH7 9F 2D £ T o L B Y




AR OESHGRE IS
(ZA—T HHI)
R E AR
HHEER
BT\ RRE T DHRIKIERIR (1 39 4%)

i B 5. 45~5. 46 A—hL

. K 122, 51 A—hKL

W fH 668. 26 HFA—KL

605%10

5. 4bm




F AR AR POERSHGRE I

LA T H HiIP)

— FERIERRHR

N V7 CERE T DRIGERHR (R 1 3 9 555)
g B 5. 00~5. 03A—h
ik 54. 66 A— RV

&
mo R 276. 30FHA—RL

\ YAEETE

(BT T B1R)

AN



BRI IEREHEEE WX
(LA A2 DILAAT A )
E— Al ESTE

B 7 GRET ARIIKERRE (51 396%5)
m B 3. 00~17. 78A—FL
St E 784. 88A—FhL

MmO 7, 279. 96 HFA—NL

3. 00m

MANTH

17. 78m
ETT B

\0

545717 D—H

3



BRI IEREHEEE WX

(AT HH)

E— Al ESTE

— HREER

S AT

B 7R D RIGERSH (85139 75)

g
e
[id]

B 5. 45~5. 46 A—FL
E 119. 85A—}Fb

f 661. 52FHFA—FL

.
5y

5. 46m




AR IRERHGEE IS

GZAMT H

MONAET HHIP)

Rl XE S

VT CRRE T O RIXERHR (F1 3 9 8%5)

[
I
]

B 12. 00~16. 00A—Fhk
£ 169. 09A—Fhb
B 2, 559. 36 HFA—FL

(BTTBiR) YARtTH
YEETE \ @  549%10

/T

12. 00m

5701 D—




SRR OERRARE IS
CZAETENON AN T BHi#N)
T RPRIKGERSRR
N 7 SGRET ARIIRKEREE (5139 9%5)
e B 3. 63~5. 58A—hKL

339. 63A—hkL

&
mo FE 1, 488. 88FHA—IL

I



AR OESHGRE IS

(P->A—T H H#iPN)

— RIRERHE

1T

L KB

B 7 SERE T ORI ERSHR (14 007%5)
E B 16. 00~34. 25A—}hL
EOR 161, 37A—hb

mo A 3, 847. 49 HA—L

55 % 1 D—Hh o
o 2
mOAR—TE B {@@V ETT B1E)

- (BT B1R)

79 % 2 O HYDOAKR=TH




